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FIGURE 2-5 Graph of x versus t. Note the sequence of successively
smaller time intervals, At,, At,, At ,.... The average velocity of each
interval is the slope of the straight line for that interval. As the time
intervals become smaller, these slopes approach the slope of the tangent to
the curve at point t,. The slope of this tangent line is defined as the
instantaneous velocity at time fo-

Tipler, Mosca, 6% ed.



A falling apple captured by strobe
photography at 60 flashes per second. The
acceleration of the apple is indicated by the

widening of the spaces between the images.

(Estate of Harold E. Edgerton/Palm Press.)

Tipler, Mosca, 6% ed.



Frage: Geschwindigkeit & Beschleunigung

Der obige Graph zeigt die Geschwindigkeit eines Objekts
in Abhangigkeit der Zeit. Wie gross ist die durchschnit-
tliche Beschleunigung zwischen ¢t = 0s und t = 657

1.3.0m/s
2.1.5m/s’
3.0.83m/s"
4.0.67m/s"

5. keine der Antworten.




Frage: Geschwindigkeit & Beschleunigung

Antwort: 4. 0.67m /s

Die Geschwindigkeitsanderung (Beschleunigung) im ge-
gebenen Zeitintervall betragt 41m /s. Dies ergibt wahrend
6s eine Beschleunigung von a = 0.67m/s.




Frage: Geschwindigkeit & Beschleunigung

AV

Ein Objekt bewegt sich mit einer Geschwindigkeit v, wie
in obiger Skizze gezeigt. Welche der folgenden Graphen
zeigt den richtigen qualitativen Verlauf der Beschleuni-

gung?
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Frage: Geschwindigkeit & Beschleunigung
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Antwort: 5.

Die Geschwindigkeit dndert sich zu Beginn nicht. Die
Beschleunigung ist also null. Danach nimmt die Geschwin-
digkeit linear zu. Die Beschleunigung hat dann einen kon-
stanten, positiven Wert. Zum Schluss ist die Anderung
der Geschwingigkeit, und somit der Beschleunigung, wie-
der null.
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FIGURE 3-12 Thered ballis released
from rest at the instant the yellow ball rolls off
the tabletop. The positions of the two balls are
shown at successive equal time intervals. The
vertical motion of the yellow ball is identical
with the vertical motion of the red ball, thus
demonstrating that the vertical motion of the
yellow ball is independent of its horizontal
motion. (Richard Megna/Fundamental
Photographs.)

Tipler, Mosca, 6% ed.
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